DAWELD"

R \ UBEEERAT
JREWEE kSR

Reliable quality and good service

MAG/

G/coz WELDING, TpRcHE%ﬂD SPARE/P)RTg

x . / /S
'ﬁéﬂﬁ'ﬂﬁ&ﬂ f_ s -

TG WEL ING cHE,s AND SFﬁRE PARTS / R

l\H /

.Mﬁﬁﬁﬁﬁﬁma*}J”JWm
"‘EDAWELD COMPANY LIMITED |

-+ SAUF@EDAWELD.
J WWW. EDAWELD. COM p

l’__l
¢ O08

s "{L i F'I a1

!






CONTENTS B#
MIG TORCH AND SPARE PARTS

EDA TAAK ettt ettt ettt h ekt h ettt a e a e bt Rt e bt et e b e A ea e e n e e Rt bt eh e ek e b e b et et en e e bt e bt ehe ek e eb e te e et eneeneebeee 1
EDA TS5AK ettt ettt ettt h ekt h et ettt a e bt Rt e bt et e b e £ e a e e nt e Rt e bt eh e ekt ke b et et en e eh e e bt eheebeeb e te e et eneeneebeee 2
EDA 24KD ..ttt sttt h ekt h et et e At e a e e a e bt Rt bt ek e b e £ eat e At e et ekt eh e e ket e ket ent e st eh e e bt ehe et e b et et et eseeneebeee 3
EDA 25AK ettt et h et h ettt a e a e bt At bttt 4 e £ e a e e n e e Rt bt e Rt ek ek ek et et en e eh e e bt bt ete b e te e et ebeeneebeee 4
EDA BOKD ..ottt ettt e h ekt h a4ttt ea e bt Rt e bt ekt b e A en e enten ekt eh e ek ek e ket et en e eh e eheehe et e ebe s et et eneeneebeee 5
EDA AOKD ..ottt et ettt ettt b ekt h a4 ek et a e e a e bt Rt e bt ek e b e £ enten e e Rt e Rt eh e ek e ke b e s enten e eh e e bt eheebeebe b et et eneeneebeee 6
EDA AOTD/S501TD ittt ettt ettt a btk e bt st e b et et e a e e et e bt eh ekt eh e e A et en e en e eR e e Rt e bt ekt ek et et et en e e n e eb e eh e be et et e teneeneens 7
EDA AUTO 25 ettt ettt ettt ettt s bt e bt s bt et e e 4 et em e m e eb e eh e eb e et et e e emeen e es e eb e eb e eb e b e et et eneenteb e e bt eb et e naenteneenene 8
EDA AUTO 30 ..ottt ettt sttt ettt s ekt e bt s bt et e s 4 et em e em e eb e e et eb e et e b e e em e en e es e eb e e bt eb et e e ae e entene bt e bt ebe et e naeteneenene 9
EDA AUTO 500 ..ttt ettt ettt ettt ettt e e e st e st eb e e bt s bt st et et em e eates e e bt eb e e b e e e e s e e em e emteseeb e ebe et e et et emtenseneeseeneebeabeseenee 10
EDA PIBOA oottt ettt ettt et et s e et e bt et e e bt ek et et ea e ea e e Rt ekt eh e ket et en e eneen e e bt eh e eh e ek e b et ententene e bt ebe et e beete e eneens 11
ED A P3S0A ittt ettt ettt e a e h e bttt b e ek et e e en e ea e Rt ekt eh e A et et enten e en bt ekt eh e ke b et entententeheebeeteebenteneeneens 12
EDA PSO0A <ottt ettt ettt s h ettt a e st b ekt bt e A et et e Rt R e Rt ekt ekt A et et en e en e eR e eb e ekt eh e ke b et ententent e bt ebe et e bente e eneens 13
EDA TW=T80 ettt ettt ettt s et eh et e 4t st et et et e st e st e bt eb e e b et a4 et emeen e eseea e eb e et e eb et emsensenteneebeebeebesbe b enbeneeneeneene 14
EDA TW=2000 ettt ettt sttt ettt a e bttt s 4t st et et et em e em e e bt eb e e b et a4 emtemeenteseea e eb e ke eh et ententen e e Rt eb e e b e ebeebe b et e e eneeneene 15
EDA TW=300 ettt ettt ettt ettt e st e bttt e bt st et e b et e st em e e bt eb e eh a4 a4 e atemeen e ebeeh e eb e ke e b et ententen e e Rt eb e e b e ebeebe b et e e eneenene 16
EDA TW=400 ettt ettt sttt et s e a e h et e e bt st et et et e st em e e bt eb e e b et e s eatemeem e eseea e eb e et e eb et ententene e Rt ebeebeebe e b et et e e eneenene 17
EDA TW=5000 ettt et ettt sttt ettt a e bttt e bt st et et et e st e st eb e eb e e b a4 e s et emten e eseeh e eb e ke eb et ententen e e Rt ebeeb e e bt e he b et e e eneenene 18
EDA BIND300/350 .. tiitiiteieieiieitet ettt sttt ettt sttt st e e s e st e bt et e eb e st et et emees e eb e e bt eb e ek et et ea e e Rt ea e eh e bt ek et et et e et e Rt ebeebeebe et et e teneeneeneee 19
EDA BINDZOO ...ttt ettt sttt et s et e bt st e s b e st e s e e e et es e e st e bt e bt ek et et et e et e Rt e bt ekt b e ke b et en e e st e bt eheehe ek e b e te e et eneeneeneeten 20
Compatible ESAB Type MIG/MAG Welding TOTCHES .....c.ccceeciiiiiiieiiiieiisieeiesteetesie et etesteetesteeseestesteessesseessessesssessesseensessesssens 21
Compatible FRONIUS Type MIG/MAG Welding TOTCHES .......ccceeieeiiriieieriiiiieeiesieeiesteeetestesteeaesteestestesseessesseesesseessessesssensesseens 22
Compatible KEMPPI Type MIG/MAG Welding TOTCNES ......c.cocivieriiiiieieriieieie ettt ettt ste et s ve et e sae e ebe e esaesbeesnesasssenes 23
Compatible MIL Type MIG/MAG Welding TOTCNES ......cccivuieiiiiieieiieiieiietet ettt ettt ettt sse s e sesseesesseessesseessesesssensesssensan 24
Compatible OTC Type MIG/MAG Welding TOTCHES .......cccuervirieiiiiiieieitieiesieeeestesteestesteesesresssessesseesessaessesseessessesssessesssessessesnes 25
L0075 118 21 I 1 1 ) PRSP 26
TIG TORCH AND SPARE PARTS
AP0 ettt et a ettt ettt ettt h e h e btttk et e At et e Rt eR e Rt ekt b e ke At et en e e R e e Rt ekt eh e ek et et enteneeneebeebeeheatetenteneeneerea 27
074 S OO OSSR OROSSP SRRSO 28
074 S T OO OO OSSR PT SRS SORSRRSRPRO 29
WP -20 ettt ettt b ettt e et e h ek ek ek et en e n e Rt eh e b e ke b et e Rt e at e bt e Rt ehe ek e b et entententeh e ehe ek e ebeebente e et eneeneebea 30
WP=26 et e ettt ettt a et h et e b e ket e a e en e bt Rt Rt ke ket e Rt e at bt e Rt e bt ket e ke ntenten e e Rt ehe ek e ebenbete e et eneeneebens 31
CeramiC NOZZIES, COIIECTS ...vviiiueiiiriieectee ettt ettt e e et e ettt e et e e et e eeaeeeeaaeeeeteseeateeseaeeesaseesaseeeasseesseeesnteseenseeeeneeesteeesnreeeas 32
Collect Body, Gas Lens, BaACK CaPS .....cccvcieiiiieieitieieiietestestet et ete sttt ebesse e sesseessesbesssessesssessasssassassesssessesssensesssensensesssensesssenss 33
Cable Connectors, TUNGSteN EIECIIOME ........ccveiiiiiiiiiiieiecie ettt ettt st et be s te e b e sbeestesbesseesseeseensesseeseensesssensenns 34

Electrode Holder and Earth CLAMP........c.ccieeieriieierieiieciesieetesie ettt te et testeeaesteeseessesseessesseessesseessessesssensasseensessesssensenssenes 35-38



EDAWELD COMPANY LIMITED

Air Cooled

EDA14AK Welding Torch

Technical data

Cooling ## A
Duty cycle 60% %#%60%
Wire Size #2517

M FERABRAA

BAZH

Gas Cooled 5 %
180Amp CO:-,150Amp MIX
©0.6-1.0mm

NO. Part No. Description

1 EDA145.0075 Gas nozzle 12mm; M ®§ 12mm

2 EDA140.0059 Contact tip 0.8mmE-CU/M6X25; 5 il 0.8mm/M6X25mm

3 EDA002.0009 Torch head 15 with fitting;15AK ##0 ( &4 )

3.1 EDA002.0078 Gas diffuser 15AK; 7 ias 15AK

3.2 EDA002.0058 Spring 15AK;#% 15AK

4 MIG Mini handle black; & a3k R FHR 15AK

5 EDA185.0031 Trigger; }#4& H 2%

6 Coaxial cable3m;FIFli 452 3m

7 Front Cable Support; Fi 25 %

8 Back box;J5ilE

9 Screw M4X6;1822 M4X6

10 Adaptor nut ;81 E MR E]

11 EDAS501.2155 Euro central adaptor body/air cooling ;KK = H 4 3k/25 ¥4

12 EDA501.0082 Liner nut ;3% £2 %5 S8 &)

13 Brass terminal 2.0X4.0mm 0.35m;4fi% 2255 2.0X4.0mm/0.35m
14 EDA126.0005 Teflon liner 4.0X1.5mm 3m Blue; FF9 1% 228 4.0X1.5mm/3m/ ¥ t4
15 EDA124.0011 Blue liner 0.6-0.8mm 3m; i 454% X 22 0.6-0.8mm/3m/ i ¢4
16 Spanner for MIG torches;MIG &3 F

Complete Torch

MIG MINI 15 torch 3m euro adaptor;MIG 15AK/3m//5 4 15AK/3m g4 &/ R IR /R T4l

MIG MINI 15 torch 4m euro adaptor;MIG 15AK/4m//546 15SAK/4m FE 4R/ RR ZEEAR TR

MIG MINI 15 torch Sm euro adaptor;MIG 15AK/Sm//54 15SAK/Sm S 4/ RR 2R AR TF-46

www.edaweld.com




EDAWELD COMPANY LIMITED

EDA15AK WELDING TORCH

Technical data

_.ou;g

Dhutty crycd LQJ B it 8%

‘fl’dﬁzé R b

M FERABRAA

FEhES

Gars Coodbed 7

T80 Amp CO. 15 04mp MIX
D0E-1.0mm

16

_\
NO. Part No. Description

1 EDA145.0075 Gas nozzle 12mm; i M 12mm

2 EDA140.0059 Contact tip  0.8mmE-CU/M6X25; 5 1B 0.8mm/M6X25mm
3 EDA002.0009 Torch head 15 with fitting;15AK #8 ( &4 D

3.1 EDA002.0078 Gas diffuser 15AK;/riidy 15AK

3.2 EDA002.0058 Spring 1SAK; 34 15AK

4 Hexagonal fitting; 7 £ i& i #%

5 Plastic Body; %%} & It

6 MIG handle Blue/Grip;MIG F#/# &

7 EDA185.0031 Trigger; /548 F 5%

8 Screw M3X10;8222 M3X10

9 Joint for 15 ;HUAESCHEFIERTT 15 41

10 EDA160.0065 Coaxial cable 3m; /4 24 3m

11 Housing for handle; FH§ B &34

12 Back box; /5 &

13 Screw M4X6;1242 M4X6

14 Adaptor nut ;XFAEEH R BE/DRME S

15 EDA501.2155 Euro central adaptor body/air cooling ;¥ = HF g5z 3k /4574

16 EDA501.0082 Liner nut ;i% 2255 8l SR R

17 Brass terminal 2.0X4.0mm 0.35m;4fi% 225 2.0X4.0mm/0.35m
18 EDA126.0005 Teflon liner 4.0X1.5mm 3m Blue; IR EIX 22 4.0X1.5mm/3m/ ¥t
19 EDA124.0011 Blue liner 0.6-0.8mm 3m; i 4425 214 225 0.6-0.8mm/3m/ i (1
20 Spanner for MIG torches;MIG 5 4g4RF

Complete Torch

MIG 15AK torch 3m euro adaptor /spring pins; 46 15AK/3m/3 4}

MIG 15AK torch 4m euro adaptor /spring pins;/&Afs 15AK/4m/3 4%t

MIG 15AK torch 5Sm euro adaptor /spring pins;/&H 15AK/Sm/F R4

www.edaweld.com




EDAWELD COMPANY LIMITED HMZBFEEEAERAT

Air Cooled 1
EDA24KD Welding Torch il

Technical data BASH

Cooling ## A3t Gas Cooled =%

Duty cycle 60% ##®60% 250Amp CO,,220Amp MIX 0
Wire Size R&HE ©0.8-1.2mm

NO. Part No. Description

1 EDA145.0080 Gas nozzle 12.5mm; B¢ B 12.5mm

2 EDA140.0253 Contact tip 1.0mmE-CU/M6X25; 5 H I 1.0mm/M6X25mm

3 EDA142.0003 Contact tip holder 24KD M6X26mm; T i W J4/24KD/M6X26mm
4 EDA012.0183 White ceramic gas diffuser 24KD; 4 th i &0 it 4% 24KD

5 EDAO012.0001 Torch head 24KD; ¥l 24KD

6 MIG handle Blue/Grip;MIG F- A/ 4

7 EDA185.0031 Trigger; /& & H H X

8 Screw M3X10;8222 M3X10

9 Joint for MIG handle;MIG T4 F Bk=k

10 Spring for cable support; FL 45 = #5313

11 Coaxial cable 3m;[FIFliFEZ52H 3m

12 Back box; /5 {1 &

13 Housing for handle; F #3410

14 Screw M4X6;1522 M4X6

15 Adaptor nut; GG KRR/ 0

16 EDAS501.2155 Euro central adaptor body/air cooling ;B3 AR g4 3k/25 74

17 EDA501.0082 Liner nut ;1% 22 8 SR £}

18 Brass terminal 2.0X4.0mm 0.35m;4fi% 2245 2.0X4.0mm/0.35m
19 EDA126.0021 Teflon liner 2.0X4.0mm 3m Red; #9422 2.0X4.0mm/3m/ZL
20 EDA124.0026 Red liner 1.0-1.2mm 3m; 444 216424 1.0-1.2mm/3n/4L 7
21 Spanner for MIG torches;MIG 54tk F

Complete Torch

MIG 24KD torch 3m euro adaptor /spring pins; 4t 24KD/3m/3 44}

MIG 24KD torch 4m euro adaptor /spring pins; 48 24KD/4m/ 3144}

MIG 24KD torch 5m euro adaptor /spring pins; A 24KD/5m/3 1441

www.edaweld.com 3




EDAWELD COMPANY LIMITED

Air Cooled
EDA25AK Welding Torch

M FERABRAA

Technical data BARSH

Dty cyc 60% HEEE0%  230Amp GO, 200AT MX

Wire Size RZEE ©0.8-1.2mm

g
LI . o
=

NO. Part No. Description
1 EDA145.0100 Gas nozzle 15mm; i ¥ 15mm
2 EDA140.0242 Contact tip 1.0mmE-CU/M6X28; 5 HLI% 1.0mm/M6X28mm
3 EDA142.0001 Gas diffuser M6X35mm; 73t d% M6X35mm/25AK
4 EDA004.0012 Torch head 25AK; #8380 25AK
4.1 EDA003.0013 Spring 25AK;#% 25AK
5 EDA400.0044 Plastic Body; ¥l i& BC #%
6 MIG handle Blue/Grip;MIG F#5/¥ {4
7 EDA185.0031 Trigger; /548 F ¢
8 Screw M3X10;8222 M3X10
9 Joint for MIG handle;MIG F-#i FH Bk 3k
10 Spring for cable support; FL 25 37 43 1 5
11 Coaxial cable 3m;[FIfli FHZi 4 3m
12 Back box; /51 &
12.1 Housing for handle; F- £ &34
13 Screw M4X6; 1822 M4X6
14 Adaptor nut; R HE 5 IR B/ €,
15 EDA501.2155 Euro central adaptor body/air cooling ;¥ = HF g 3523k /2574
16 EDA501.0082 Liner nut ;1% 228 8 SR i
17 Brass terminal 2.0X4.0mm 0.35m;4fi% 225 2.0X4.0mm/0.35m
18 EDA126.0021 Teflon liner 2.0X4.0mm 3m Red;$§ L4 22 2.0X4.0mm/3m/ZL
19 EDA124.0026 Red liner 1.0-1.2mm 3m; i 464238 2298 1.0-1.2mm/3m/4L 4
20 Spanner for MIG torches;MIG 5 4g 4 F
Complete Torch

MIG 25AK torch 3m euro adaptor /spring pins; &4 25AK/3m/3 M4t

MIG 25AK torch 4m euro adaptor /spring pins; &4 25 AK/4m/3 44T

MIG 25AK torch 5Sm euro adaptor /spring pins; /&4 25 AK/Sm/ 3 PE4F

www.edaweld.com




EDAWELD COMPANY LIMITED

Air Cooled

EDA36KD Welding Torch

M FERABRAA

/o
)

Technical data BRSH J_ﬂ/

T — 2 /

Wire Size iB4H#Z ©0.8-1.86mm QD ‘

10
J—— — 2
= i \
= 1
PR AP R o o A
=g . | W “tw-J
=

NO. Part No. Description
1 EDA145.0078  Gas nozzle 16mm; 5§ B 16mm
2 EDA140.0379 Contact tip 1.2mmE-CU/M6X28; S LB 1.2mm/M6X28mm
3 EDA142.0011 Contact tip holder M6X32mm; 5 H1 M5 /M6 X 32mm
4 EDA014.0023 White ceramic gas diffuser; B %507l 85 36KD
5 EDA014.0005 Torch head 36KD;#835l 36KD
6 MIG handle Blue/Grip;MIG F-44/# t
7 EDA185.0031 Trigger; /548 F ¢
8 Screw M3X10;#222 M3X10
9 Joint for MIG handle;MIG FA# F Bk 3k
10 Spring for cable support; FL 45 37 43 3 55
11 EDA160.0364  Coaxial cable 3m;[RI%fi FH 452 3m
12 Back box; /5 {1 &
12.1 Housing for handle; F AR B K3
13 Screw M4X6; 2 22 M4X6
14 Adaptor nut; SRS SIS R/
15 EDA501.2155 Euro central adaptor body/air cooling ;¥R = i 0352 3k /2574
16 EDA501.0082 Liner nut ;1% 22 & £ SR &)
17 Brass terminal 3.0X4.5mm 0.35m;#ii%£24% 3.0X4.5mm/0.35m
18 EDA126.0039 Teflon liner 3.0X4.5mm 3m Yellow; £FFEE 3.0X4.5mm/3m/3%
19 EDA124.0041 Yellow liner 1.2-1.6mm 3m; i #82% ik 228 1.2-1.6mm/3m/ 3
20 Spanner for MIG torches;MIG #2484 F
Complete Torch

MIG 36KD torch 3m euro adaptor/spring pins; & 36KD/3m/H {44

MIG 36KD torch 4m euro adaptor/spring pins; 4 36KD/4m/5 141

MIG 36KD torch 5m euro adaptor/spring pins;}E#t 36KD/Sm/# 144

www.edaweld.com




EDAWELD COMPANY LIMITED

M FERABRAA

Air Cooled Tt .
EDA40KD Welding Torch S == '
Technical data HARZH
Diy Cyle 60% WSLES0%  SEOAMD GO, SG0AMPMIX i
Wire Size 822 &% ®1.0-24mm /_
N
4
oA ‘s gL
“ = W i
13 :“/_/
NO. Part No. Description
1 EDA145.0079 Gas nozzle ® 18mm 40KD;HiM§ @® 18mm 40KD
2 EDA140.0587 Contact tip 1.6/M8x30mm ;5 HB 1.6/M8x30mm
3 EDA142.0025 Contact tip holder 40KD/M8/47mm;F i 8¢ 40KD/M8/47mm
4 EDA015.0023 White ceramic gas diffuser 40KD; % /3% 40KD
5 EDA015.0001 Torch head 40KD 50° ; #f il 40KD 50°
6 MIG handle 40KD Blue;MIG T4 40 KD/ (%
7 EDA185.0031 Trigger 21.8mm; 2% 21.8mm
8 Screw Mdx14;1&22 M4ax14
9 Nut M4 UNI 5587 (Sp 4);/N U2 EE M4
10 Joint with spring; i # 5 Bk
11 Coaxial cable 3m;[FIFfiF4E 3m
12 Back box for air cooling for ;¥ ¥ 50 &
13 Screw M4x6 UNI 6107;#%£2 M4x6 UNI 6107
14 Gun plug nut; EAE 81 K IR £
15 Euro central adaptor body/40KD/spring pins/Adaptor nut; Fx = # St 4%k 40KD/3PE £
16 EDA501.0082 Liner nut;i% 2255 8l SR R
17 EDA124.0041 Insulated steel liner 1.2-1.6/3m/Yellow; 4445 ZA 224 1.2-1.6 3m/3
18 Spanner for MIG torches;MIG 463k F
Complete Torch
MIG 40KD torch 3m with /spring pins; 54t 40KD/3m/3 14
MIG 40KD torch 4m with /spring pins; ¥4t 40KD/4ny/# 4T
MIG 40KD torch 5m with /spring pins; ¥4y 40KD/5m/34: 4+

www.edaweld.com




EDAWELD COMPANY LIMITED

1 2 3 4
Water Cooled . Yavas
EDA401D/501D Welding Torch = ), =
!
29
Technical data HARS 5400
Cooling %1% Water Cooled 74
Duty cycle 100% ###100% 400Amp CO,,350Amp MIX
Wire Size RLE & ©0.8-1.2mm
28
oD
Technical data 500 A S H500

Cooling ##15%
Duty cycle 100% #%100%
Wire Size 48 &

Water Cooled 7%
500Amp CO, ,450Amp MIX
©1.0-1.6mm

M FERABRAA

14

1
o Q
/

= 12
w28 Saks )
= 1 e
5 s O
Q
21 20 19 18 9 10 11
ke o G
= 17—, §—e
NO. | PartNo. Description NO. Part No. Description

1 EDA145.0085

Gas nozzle 16mm; % B 16mm

27 EDA122.0056

Steel liner 1.2-1.6mm 3m;#{i% 2245 1.2-1.6mm/3m

2 EDA140.0442  Contact tip 1.2mm E-CU/M8X30 28 Spanner for MIG torches; MIG JEHF

3 EDA030.0190 : White ceramic gas diffuser; H (4 % i & 401D-501D 29 EDA030.0019 Insulator 401D-501D;Z4x 5 /5 401D-501D
4 EDA142.0022 | Contact tip holder M8X25mm; 3 Fi M J8/M8X25mm Complete Torch

5 Torch head; #35 MIG 401D torch 4m euro adaptor/spring pins

5.1 EDA034.0001

Torch head 501D;#:%5i 501D

MIG 401D torch 5m euro adaptor/spring pins

52 EDA033.0001

Torch head 401D;4t:#i 401D

MIG 501D torch 3m euro adaptor/spring pins

6.7

MIG handle Blue/Grip; MIG -/ 4

MIG 501D torch 4m euro adaptor/spring pins

8 EDA185.0031

Trigger;ﬁ*ﬁﬁﬁ FF 2%

MIG 501D torch 5m euro adaptor/spring pins

9 Screw M3X10;1242 M3X10

10 Joint for MIG handle;MIG -4 FH Rk 3k

10.1 HOUSING RING/BIG/INSIDE; 4 % P 3/
10.2 HOUSING FOR PLASMA BACK BOX/BIG
11 Spring for cable support; HL 25 7 4 5 3%

12 Cable assenbly 3m 401D-501D

13 Clamp 9.5; F 4 9.0

14 Clamp 8.7; £ i 8.0

15 EDA501.0114

Quick connector water 6mm;/KA gk 6mm

16 Hose support for water cooled rear box

17 Screw M4X6; 124 M4X6

18 Back box for water cooled; /K416 5 &
19 Adaptor nut/Blue; 5 Hs 8 S IR R/ 15 (4

20 EDAS501.2155

Euro central adaptor body/water cooling

21 EDAS501.0082

Liner nut;i% 22 & 41 S 2 £

22 Output water tube M5X8mm 0.8m red; EPDM
23 Plastic support for water cooling connector / Red
24 Plastic support for water cooling connector / Blue
25 Brass terminal 3.0X4.5mm 0.35m;

26 EDA126.0039

Teflon liner 3.0X4.5mm 3m Yellow

www.edaweld.com




EDAWELD COMPANY LIMITED

M FERABRAA

EDA AUTO 25 TORCH

Technical data

Cooling %# 73t

Duty cycle 60% #;3%60%
Wire Size 1R&# 2

BARSH

Gas Cooled %
230Amp CO,,200Amp MIX
©0.8-1.2mm

NO. Part No. Description

1 EDA145.0100 Gas nozzle 15mm; i M§ 15mm

2 EDA140.0242 Contact tip 1.0mmE-CU/M6X28; 5 H I 1.0mm/M6X28mm

3 EDA142.0001 Gas Diffuser M6X35: 73 Jfitsis M6X35 25AK

4 Torch head auto 25AK 45° ;F g5 25AK 45°

4.1 EDA003.0013 spring 25AK;## 25AK

5 Torch head auto 25AK 0° ; H &g 25AK 0°

6 Handle for auto MIG torch; FHEEH MIG H shka3iH

6.1 Handle for auto MIG torch; T4 MIG H 2435 ]

6.2 Screw M4X8 ;##42 M4X8

6.3 Spring for cable support; FL 45 =7 #5313

7 Coaxial cable 3m; Rl FHA54H/3m

8 Spring for cable support; FL 25 37 43 3 55

9 Back box; /5 i1 &

10 Screw M4X6;1222 M4X6

11 Adaptor nut/Blue; }FH £ 55 15 B

12 EDA501.2155 Euro central adaptor body/air cooling; ¥k 20 H e 5z 3k /25 ¥4

13 EDAS501.0082 = Liner nut; %22 &4 K5 R}

14 Brass terminal 2.0X4.0mm 0.35m;4fi% 2255 2.0X4.0mm/0.35m

15 EDA126.0021 = Teflon liner 2.0X4.0mm 3m Red; 5 iU 2.0X4.0mm/3n/4L ¢4

16 EDA124.0026 Red liner 1.0-1.2mm 3m; 484421644 1.0-1.2mm/3m/4 &

17 Spanner for MIG torches;MIG 5484k F

Complete Torch
Torch auto MIG25AK 0°  3m euro adaptor/spring pins; H Z/EH 25AK/0° /3m/3# 1441
Torch auto MIG25AK 45°  3m euro adaptor/spring pins; H Z115E46 25AK/45° /3m/#PE4EF

www.edaweld.com




EDAWELD COMPANY LIMITED

M FERABRAA

EDA AUTO 36 TORCH

Technical data HARSH

Cooling #A#% %
Duty cycle 60%

Gas Cooled =4

H%¥60% 300Amp CO, ,270Amp MIX

Wire Size R EF ©0.8-1.6mm

g FEr e
N/
YOG /LS ?"g/‘
8/

16

e - /—-

9

12 14 10
2 e i A
—= " f - Wi

==
NO. Part No. Description
1 EDA145.0078 Gas nozzle 16mm; M ®§ 16mm 36KD
2 EDA140.0379 Contact tip 1.2mmE-CU/M6X28; 5 HLI 1.2mm/M6X28mm
3 EDA142.0011 Contact tip holder M6X32mm; 5 Fi B 4 36KD/M6X32mm
4 EDA014.0023 White ceramic gas diffuser; H fg %50l 8% 36KD
5 Torch head auto 36KD 45° ;H #4501 36KD 45°
6 Torch head auto 36KD 0° ; H ##835 36KD 0°
7 Handle for auto MIG torch;MIG H shia30i i FREL
7.1 Handle for auto MIG torch; T4 MIG H i #1H
7.2 Screw M4X8 ;##42 M4X8
7.3 Spring for cable support; FL 45 =7 $%3 3
8 EDA160.0364 Coaxial cable 3m; [ fll L4 41/3m
9 Spring for cable support; FL 45 =7 $% 3 3
10 Back box; /5 &
11 Screw M4X6;1222 M4X6
12 Adaptor nut/Blue; S A8 B B2 L
13 EDAS501.2155 Euro central adaptor body/air cooling; KX =X 41 ez /2% ¥4
14 EDA501.0082 Liner nut;i% 228 8 S48 £
15 Brass terminal 3.0X4.5mm 0.35m;#ii%224% 3.0X4.5mm/0.35m
16 EDA125.0039 Teflon liner 3.0X4.5mm 3m Yellow; £ 5 /2 3.0X4.5mm/3m/ 3 4
17 EDA124.0041 Yellow liner 1.2-1.6mm 3m; i 48 2%J2 15 2245 1.2-1.6mm/3m/H{ 4
18 Spanner for MIG torches;MIG &R T
Complete Torch
Torchauto MIG36KD 0° 3m euro adaptor/spring pins; H 424 36KD/0° /3m/#aEE
Torchauto MIG36KD 45° 3m euro adaptor/spring pins; EH Z145H 36KD/45° /3m/Fit%T

www.edaweld.com




EDAWELD COMPANY LIMITED

EDA AUTO 500 TORCH

M FERABRAA

wR R
e N
/N

Technical data BASH _/

g oo &

Wire Size HEEE ®1.0-1.6mm 03/

18

NO. Part No. Description NO. Part No. Description
1 EDA145.0085 : Gas nozzle 16mm; % B§ 16mm 401D-501D 24 EDA122.0056 Steel liner 1.2x1.6mm 3m;#Xi% 24 1.2-1.6mm/3m
2 EDA140.0442 | Contact tip 1.2mmE-CU/M8X30; Spanner for MIG torches; MIG 484 T
3 EDA030.0190 : White ceramic gas diffuser; [ [ % /)it 8% 401D-501D Complete Torch
4 EDA142.0022 : holder M8X25mm Auto MIG501D 0° 3m euro adaptor/spring pins
5 auto 501D 45° ;HBFEET 501D 45° Auto MIG501D 0° 4m euro adaptor/spring pins
5.1 EDA030.0019 | Insulator 401D-501D; #& % # )}y 401D-501D Auto MIG501D 0°  5m euro adaptor/spring pins
6 Handle for auto MIG torch; MIG H 1435 F 4 Auto MIG501D 45° 3m euro adaptor/spring pins
6.1 Handle for auto MIG torch; T4l MIG H s3] Auto MIG501D 45° 4m euro adaptor/spring pins
6.2 Screw M4X8 ;i222 M4X8 Auto MIG501D 45° 5m euro adaptor/spring pins
6.3 Spring for cable support; HL 45 7 43 #i 5
7 Torch Head auto 501D 0° ;243 501D 0°
8 Cable assenbly 3m 401D-501D;
9 Clamp 8.7; £ i 8.0
10 Clamp 9.5; kK 4 9.0
11 EDAS501.0114 | Quick connector water 6mm;/K¥A HRi#FH Y% 6mm
12 Spring cable support 401D-501D;
13 for MIG handle; MIG 47 F Bk =k
14 Screw M4X6;4222 M4X6
15 Back box for water cooled; /K416 5 i &
16 Adaptor nut; EAEE S IE R}
17 EDAS501.2156 : Euro central adaptor body/water cooling;
18 EDA501.0082 | Liner nut;i% £ 5 8 5%
19 Output water tube M5X8mm 0.8m red; EPDM
20 Plastic support for water cooling connector / red;
21 Plastic support for water cooling connector/ blue;
22 Brass terminal3.0X4.5mm 0.35m;
23 EDA126.0039 : Teflon liner3.0X4.5mm 3m Yellow

www.edaweld.com

10




EDAWELD COMPANY LIMITED HMZBFEEEHAERAT

Air Cooled

EDA P180 Welding Torch

Technical data BASH
gﬁ?}“?ﬁf:ggofgﬁgso% FotAr €D, 1€0Amp MIX
Wire Size #L8%E ©0.8-1.2mm
NO. Part No. Description
1 Nozzle PAN 180;m1%/ H 3 180
2 Contacttip @ 1.0 M6x45;FHiB © 1.0 M6x45
3 Torch head PAN 1804351/ H X 180
4 MIG handle PAN180;MIG T4/ H =X 180
5 Switch for MIG/PAN; &) T &/ H At
6 Spring for switch/PAN; 35/ H A s 726 H
7 Screw M3 X 10mm; %22 M3 X 10mm
8 Spring cable support; FL 25 3 3% F 3 55
9 Coaxial cable assembling /3m/PAN;[FE#l 452 /3m/H =
10 Gas connector for MIG torch/PAN; H 3t 5 < 8 #23k
11 Spring cable support/PAN; HE 25 7 13 FH 55185/ H =0
12 Nut M4; /N FREE M4
13 Screw M4x20;1222 M4x20
14 Back box for PAN torch; 5t/ H x{
15 Connector 2 holes/with connectors/PAN; i it i 4di
16 Connector with hexagonal nut 9/16-18;3:3k7 9/16-18 7~ f IR HE
17 Spring for gas tube; <& FH 5.5
18 EPDM tube 5x10 300mm;EPDM & 5x10 300mm
19 Insulated steel liner 0.8-1.0 3.1m Black PAN 180:77 425 35 22 0.8-1.0 3.1m/ €4/ H 5X 180
20 Spanner for MIG torches;MIG 484k F
21 Spanner for PAN torch; H =t 7S AR T
Complete Torch

MIG 180 torch 3m PAN; /24 180 3m H =

MIG 180 torch 4m PAN; /246 180 4m H =

MIG 180 torch Sm PAN; /&4t 180 5Sm H =

www.edaweld.com

11




EDAWELD COMPANY LIMITED

Air Cooled

EDA P350 Welding Torch mg | = m

1

e
at
g

o

oy

Technical data BARE% l—-azi 55 /ﬂ
Dutycy 805 H4E800% _ S40Aem G0, 390Amp WX cae %
Wire Size semz ©0.6-16mm
) J
20 12
Sy A
2
| - ) 2
I b
e ——
Lz = -
NO. Part No.  Description
1 Nozzle P350;/5M H X 350
2 Grower M21mm; & B 5 M21mm
3 Contact tip 1.0mm E-CU M6 X 45;5 H# 1.0mm E-CU M6 X 45mm
4 Ceramic diffuser P350;/ & /it gs H 350
5 Insulator P350;264 5 HX 350
6 Torch head P350;4t:35 H = 350
6.1 Torch head front part P350;/82i g7 Bt H = 350
7 MIG handle P350/500;MIG F4# H X\ 350/500
8 Screw M3 X 10mm;#222 M3 X 10mm
9 Switch for MIG/PAN; iz 71 &/ H 2kt H
10 Spring for switch/PAN;#13%/ H At tsh 7 5< F
11 Joint with spring; 7 3L ER T
12 Coaxial cable 3my; [ % B 45 2H/3m
13 Gas connector for MIG torch/PAN; S & 4% 3k/H =
14 Spring cable support; HL 25 37 3 FH 5185/ H 20
15 Back box; 5 f1&/H 3\
16 Nut M4; 7N f iR EE M4
17 Screw M4 X 22mm; #2242 M4 X 22mm
18 Connector 2 holes; ¥4 A4/ H 20/ 4 il 8 2k
19 Connector with hexagonal nut 9/16-18;3%3k 9/16-18 75 filg £
20 Spring for gas tube; <& H 3%
21 EPDM tube 5x10mm 300mm;EPDM & 5x10mm 300mm
22 Green steel liner 1.0-1.2mm 3m ;482215224 1.0-1.2mm/3m/%% 4
23 Spanner for MIG torches;MIG J#4g4#F
24 Spanner for PAN torch; H =g H 7S fidF
Complete Torch

MIG P350 torch 3m PAN;#&4¢ 350 3m H 2l
MIG P350 torch 4m PAN; /54t 350 4m H =
MIG P350 torch 5m PAN;#&4¢ 350 5m H 2l

www.edaweld.com

12

M FERABRAA



EDAWELD COMPANY LIMITED

Air Cooled P e o
EDA P500 Welding Torch e —m e

M FERABRAA

Technical data BARBY
Do st e o | | SOOAMDE0; dhoame WX
Wire Size MEzBE 0081 6mm
NO. Part No. Description
1 Nozzle P500;%Hi/H 2 500
2 Grower M25mm; & 5 # M25mm
3 Contact tip 1.2mmE-CU/M6 X 45; 5 1M 1.2mm/M6 X 45mm
4 Ceramic diffuser P500;Fg %5 /3 s H=X 500
5 Insulator P500;44 2% &/ H =0 500
6 Torch head P500; H 2 500 435
6.1 Torch head front part P500;4¢3i a1 Bt H = 500
7 MIG handle P350/500;MIG F#4 H 3 350/500
8 Screw M3 X 10mm;#&£2 M3 X 10mm
9 Switch for MIG/PAN; T &/ H =kt
10 Spring for switch/PAN; 5%/ H At iz 1 5
11 Joint with spring; i # 5 Bk
12 Coaxial cable 3m; [ HiL 45 2H/3m
13 Gas connector for MIG torch/PAN; S & £2:3k/H 5\
14 Spring cable support; FL 45 37 4% FH 54 35/ H =X
15 Back box; /5t &/H
16 Nut M4; N FiR B} M4
17 Screw M4 X 22mm;i£22 M4 X 22mm
18 Connector 2 holes; % > i 4
19 Connector with hexagon nut9/16-18;$%3k 9/16-18 7~ f1iZ £}
20 Spring for gas tube; <& F #fl 3%
21 EPDM tube 5 X 10mm 300mm;EPDM & 5X 10mm 300mm
22 Black steel liner 1.2-1.6mm 3m; i 2625216 22 1.2-1.6mm/3m/ 3
23 Spanner for MIG torches;MIG 484k F
24 Spanner for PAN torch; H At F 75 f i F
Complete Torch

MIG P500 torch 3m PAN;/&H 500 3m H =X

MIG P500 torch 4m PAN; /8 4¢; 500 4m H

MIG P500 torch 5m PAN;/&#: 500 5m H =X

www.edaweld.com

13




EDAWELD COMPANY LIMITED HMZBFEEEHAERAT

EDA TW-180 Welding Torch

Technical data

Cooling #4#15 7
Duty cycle 60% =##60%

AR SY

Gas Cooled %4
180Amp CO, ,120Amp MIX

Wire Size /4B ©0.6-1.2mm
EiFS

NO. Part No. Description

1 EDA21-50 Gas nozzle 12.5;i% 12.5mm

2 EDA11-30 Contact tip 0.030" ;5 HH 0.030°

3 EDAS] Diffuser 51,73 fitds 51

4 EDA61-60 Conductor tube 60° ;#55 60°

5 EDA91 Trigger switch assembly ;Ff 5% & %,

6 EDAS1 MIG handle with screw; i 1222

7 Cable assembly; L 25 2H

8 Steel liner 117 0.030” -0.035” ;#MiX22% 11’ 0.030” -0.035”

Complete Torch
EDA110-3035 TW1 Torch 3m;TW1 #& 3m
EDA112-3035 Tw1 Torch 4m;TW1 & 4m
EDA115-3035 Tw! Torch 4.6m;TW1 #fi 4.6m
EDAX110-4045 TW1 Torch 3m euro adaptor; TW1 #f 3m BR=H Jeddisk
EDAX112-4045 TW1 Torch 4m euro adaptor; TW1 #f 4m BX=0H Jeddisk
EDAX115-4045 Tw1 Torch 4.6m euro adaptor; TW1 & 4.6m B Suddi Sk
EDAM110-3035 Twl Torch 3m Miller adaptor; TW1 # 3m K¥j 541
EDAM112-3035 Tw1 Torch 4m Miller adaptor; TW1 # 4m >K#jj 54 1
EDAM115-3035 Twl Torch 4.6m Miller adaptor; TW1 4 4.6m K#jj58: 1

www.edaweld.com

14




EDAWELD COMPANY LIMITED

M FERABRAA

EDA TW-200 Welding Torch

/S
—_—n

Technical data HARSH

Cooling ### s Gas Cooled =%

ISR e

o
b I~
13—, ===
NO. Part No. Description
1 EDA22-50 Gas nozzle ®12.7;5iHf ®12.7mm
2 EDA32 Insulator ;425 fa]
3 EDA14-35 Contact tip 0.035” ;FHM 0.035’
4 EDAS2 Diffuser ;73 ifil#%
5 EDA62J-45 Torch head 45GR/62J-45/Nickel-Plated outer tube /With fitting
H3 45GR/62J-45/4AR SN e Sk

6 EDAS3 MIG handle with screw;MIG T 1222
7 EDAS1 Trigger switch assembly; FF % &4
8 Joint for TW1-4;F1 11k k/TW1-4
9 Spring for cable support/Zin/TW; H. 25 3 1 FF 5535 /4% 1 B/ TW
10 Cable assembly/3M; H 25 2H/3 K
11 Spring for cable support/Blue and white zinc plating; F, 45 7 3% FH 5.5 /4% 5 1 5
12 Back box with closing ring; & {1 &/ & 81538
13 EDAEAO0018 Screw M4x6;1242 M4x6
14 Continental adapter / Miller M10X1; KRSk K8 M 10X1
15 Connetecing adaptor TW 1-4; %33k EFF/TW1-4
16 Steel liner 11”7 0.030” -0.035” ;AMi%22% 117 0.030” -0.035”
Complete Torch

TW2 Torch 3m;TW2 & 3m

TW2 Torch 4m;TW2 & 4m

Tw2 Torch 4.6m;TW2 #& 4.6m

TW2 Torch 3m euro adaptor; TW2 #f; 3m/RRZ A Je 4 sk

TW2 Torch 4m euro adaptor; TW2 #f; 4m/RR A7 948 2k

Tw2 Torch 4.6m euro adaptor; TW2 #f5 4.6m/FR A Jefdi Sk

EDAM210-3035

Tw2 Torch 3m Miller adaptor;TW2 48 3m K#/5# 10

EDAM?212-3035

Tw2 Torch 4m Miller adaptor; TW2 #f5 4m K#)5# 0

EDAM215-303

Tw2 Torch 4.6m Miller adaptor; TW2 & 4.6m K#j54 0

www.edaweld.com

15




EDAWELD COMPANY LIMITED

M FERABRAA

EDA TW-300 Welding Torch

Technical data BASH
Cooling 38803 Gas Cooled 4%
WA ) DB A 1
16
- )
Miller i5 ” 12 11 =
18—, ==
NO. Part No. Description
1 EDA24A-62 Gas nozzle ®16;Hi¥ ®© 16mm
2 EDA34A Insulator; 4 £ fa]
3 EDA14-45 Contact tip 0.045” ;T HM 0.045
4 EDAS4A Diffuser ; 73-ifil &%
5 EDAG63J-45 Conductor tube 45° ;#%5 45°
6 EDAS3 MIG handle with screw;MIG T 1222
7 Trigger Kit; FF <&
8 JOINT FOR TW 1-4; FAp IR L/ TW1-4
9 Spring for cable support/Zin/TW; H 45 3¢ 14 FF 385 /45 (1 8/ TW
10 Cable assembly/3M; 45 2H/3 K
11 Spring for cable support/Blue and white zinc plating; F, 45 7 3% FH 5.5 /4% 5 1 5
12 Back box with closing ring; 5 {1 &/ & B X8
13 EDAEA0018 Screw M4x6;#%22 M4x6
14 Continental adapter / Miller M10X1; FRaFE i3k K8 M 10X1
15 Connetecing adaptor TW 1-4; % # 3L EF/TW1-4
16 Steel liner 117 0.030” -0.035” ;AMi%22% 117 0.030” -0.035”
Complete Torch
EDA310-3545 TW3 Torch 3m;TW3 45 3m
EDA312-3545 TW3 Torch 4m;TW3 & 4m
EDA315-3545 Tw3 Torch 4.6m;TW3 ¥ 4.6m
EDAX310-3545 TW3 Torch 3m euro adaptor; TW3 #f; 3m KRZCH Jeddisk
EDAX312-3545 TW3 Torch 4m euro adaptor; TW3 #& 4m BX 0 H deddisk
TW3 Torch 4.6m euro adaptor; TW3 #f5 4.6m KR A i Sk
EDAM310-3545 Tw3 Torch 3m Miller adaptor;TW3 48 3m K#/5# 0
EDAM312-3545 Tw3 Torch 4m Miller adaptor; TW3 e 4m K#h RO
EDAM315-3545 Tw3 Torch 4.6m Miller adaptor; TW3 A 4.6m K& 52 1

www.edaweld.com

16




EDAWELD COMPANY LIMITED

M FERABRAA

EDA TW-400 Welding Torch

1 2 3 5
=l el al e -
e l — -
6
P
Technical data BASH
Cooling # #% Gas Cooled %% b 4
Duty cycle 60% ##%60% 400Amp CO, ,350Amp MIX
Wire Size #£8# ©0.8-2.0mm 8
| &
\ 78
16 “
)
10
15 14 12 11
il 7z
e ' i
13— e
NO. Part No. Description
1 EDA24A-62 Gasnozzle @ 16;il¥§ ® 16mm
2 EDA34A Insulator ;44 %% 4
3 EDA14-116 Contact tip 1.2/ 1/4-28X37.4; 5 i 1.2/ 1/4-28X37.4
4 EDAS4A Diffuser ;7 i 2%
5 Torch head 60GR/TW4/64]-60/Nickel-plated outer tube; i3l 60GR/TW4/641-60/4% 41 /ME
6 EDAS4A MIG handle with screw;MIG F-Hi i iR 22
7 Trigger Kit/TW;JF <& 44/TW
8 Joint for MIG handle;MIG T4 Bk 3k
9 Spring for cable support/Zin/Long/TW; H. 45 57 13 FF 3558 /4% (1 B8/ I/ TW
10 Cable assembly/3M; FEZ52H/3 K
11 Spring for cable support/Blue and white zinc plating; H 25 7 3% FH 58 5 /4% 5 1 5
12 Back box with closing ring; 5 {1 &/ & B K38
13 EDAEA0018 Screw M4x6;1222 M4x6
14 Continental adapter / Miller M10X1; R EFE iz 3k K 817M10X1
15 Connetecing adaptor TW 1-4; 533k EFF/TW1-4
16 Steel liner 3.4M 0.9-1.2/TW; ik 2245 3.4 K 0.9-1.2/TW
Complete Torch

EDA410-3545

TW4 Torch 3m;TW4 & 3m

EDA412-3545

TW4 Torch 4m;TW4 f& 4m

EDA415-3545

TW4 Torch 4.6m;TW4 & 4.6m

EDAX410-3545

TW4 Torch 3m euro adaptor; TW4 #f; 3m  KRZCH Jeddisk

EDAX412-3545

TW4 Torch 4m euro adaptor; TW4 e 4m FERE A ek

EDAX415-3545

Tw4 Torch 4.6m euro adaptor; TW4 # 4.6m BR = A Y4k

EDAM410-3545

Tw4 Torch 3m Miller adaptor;TW4 #8 3m K#/5# 0

EDAM412-3545

Tw4 Torch 4m Miller adaptor; TW4 e 4m K#h RO

EDAM415-3545

Tw4 Torch 4.6m Miller adaptor;TW4 & 4.6m K#hj54: 10

www.edaweld.com

17




EDAWELD COMPANY LIMITED

M FERABRAA

EDA TW-500 Welding Torch

Technical data

Cooling ##1 %3t
Duty cycle 60% #4:%60%
Wire Size ML EE

w’

w

=

BEAREH

Gas Cooled =14
500Amp CO, ,400Amp MIX
®©0.9-2.0mm

o s /
- — I — —

15 -
NO. Part No. Description
1 EDA25CT62 Gasnozzle ® 16;Mi¥ ®© 16mm
2 EDA35CT Insulator; 4 2 5
3 EDA14-116 Contact tip 1/16” ;'FHBE 1/16”
4 EDASS Diffuser; 73 it
5 EDAG65J-60 Conductor tube 60° ;250 60°
6 EDASS MIG handle with screw;MIG FHi i iR 22
7 EDA94R Trigger Kit/TW; FF <& {4/TW
8 Joint for MIG handle;MIG 4 Bk 3k
9 Spring for cable support/Zin/Long/TW; FL 85 37 4% FH 5.5 /9% 1 88/ / TW
10 Cable assembly/3M; FE 25 2H/3 K
11 Spring for cable support/Blue and white zinc plating; F, 25 ~7 ¥ FH 555 /4% W5 1 2
12 Back box with closing ring; 5 &/ & B FR
13 EDAEA0018 Screw M4x6;1242 M4x6
14 Continental adapter / Miller M10X1; KRz ez k/ KK #) M10X1
15 Connetecing adaptor TW 1-4; 3 L A/ TW1-4
16 Steel liner 3.4M 0.9-1.2/TWfNIA 2278 3.4 °K 0.9-1.2/TW
Complete Torch
TWS5 Torch 3m;TWS5 & 3m
Tw5 Torch 4m;TW5 # 4m
EDA515-116 Tw5 Torch 4.6m;TW5 & 4.6m
TwS5 Torch 3m euro adaptor; TWS #f5 3m FRZ A Jeddisk
Tw5 Torch 4m euro adaptor; TW5 #8 4m KXz H Jeddisk
TwS5 Torch 4.6m euro adaptor; TWS # 4.6m B A Seddi Sk
EDAXS515-116 TWS5 Torch 3m Miller adaptor; TW5 #& 3m K#j58# 0
EDAMS515-116 TW5 Torch 4m Miller adaptor; TW5 A 4m K& f5 82 1
TWS5 Torch 4.6m Miller adaptor; TW5 At 4.6m >K# )54 1

www.edaweld.com

18




EDAWELD COMPANY LIMITED

EDA BND300/350 Welding Torch

Technical data

Cooling ##%3¢
Duty cycle 60% % $%60%

HASH

Gas Cooled =#
300/350Amp CO,
250/300Amp MIX

Wire Size B4 A& ©0.6-1.6mm

8-9

M FERABRAA

8-14 8-13

(26
li____ By j-/
NO. | Part No. Description NO. | Part No. Description
1 EDA4392 NOZZLE D.12,5 BRASS BD 4392 8-14 Clamp ®20mm;F#E @20mm
2 EDA7491 CONTACT TIP D.1,6 BD SERIE 74 9 BACK BOX FOR AIR COOLING
3 EDA4335 DIFFUSER BD 4335;73jfii#% BD 4335 10 SCREW M4X6 UNI 6107
4 EDA4323R INSULATOR TORCHBODY BERNARD 11 Gun Plug Nut/BINZEL TYPE
5 EDAQT2-45 | TORCHHEAD/QT2/45DEGREE 12 Assemble OF Euro Centre Adaptor/BND
6 NECK INSULATOR 4780: (334428 4780 13 INSULATOR TUBE/® 5 M; ¥/ @5 K
7-1 HANDLE/BLACK/BND;F1// 2 4/BND 14 EDA44215 Liner 4,5 m - 1,2-1,6 mm.(44215)
7-2 HOOK/BND; #:4J/BND
7-3 EDA5662 TRIGGER FOR BND/5662/YELLOW TORCH BND300-350/3.6M/Euro Adaptor
7-4 SCRWE M3.5x0.6-10;#% 22 M3.5x0.6-10 TORCH BND300-350/4.6M/Euro Adaptor
7-5 NUT M3.5x0.6-11 CH6.3/NICKEL PLATING
7-6 NUT M3.5x0.6-15 CH6.3/NICKEL PLATING
8 COAXIAL CABLE 4.6M/4WIRES
8-1  EDA4213B Back Fitting Cable BD4213B; H1 45 #k
BD4213B
8-2 MUT/BND; ##£/BND
8-3 CABLE SUPPOR
SPRING/BERNARD300-400; 4 3 43 F 3.
#/BERNARD300-400
8-4 Female Trigger Wire Connector
8-5 INSULATOR FOR CONNECTOR
8-6 Heat shrink tubing: #4i& © 25mm/ K
8-7 COAXIAL CABLE 4.6M/4WIRES
8-8 INSULATOR TUBE/®3 M
8-9 Preinsulated Male Cylindrical Plug
8-10 Joint With Spring; i 35 Bk
8-11 Rings For Cable Clamping D19,3X21,3X42
8-12 BACK FITTING CABLE/BND
8-13 Clamp ®11,5mm;%4%E @11.5mm
www.edaweld.com 19




EDAWELD COMPANY LIMITED

EDA BND400 Welding Torch

M FERABRAA

Technical data HARBH

Dy oyom 60% WEROOW,  400Amp GO, J80AmD WX

Wire Size s ©0.9-1.6mm a

=
87
b=
34 B9 14 813
(2464
S e

NO. : Part No. Description NO. | Part No. Description
1 EDA4491 | NOZZLE D.19 BRASS BD4491 11 Gun Plug Nut/BINZEL TYPE/BRASS SCREW
2 EDA1591 CONTACT TIP D.1,6 BD SERIE 74 12 Assembly Of Euro Centre Adaptor/BND
3 EDA4635 | DIFFUSER GASBD 4635;43Jii#& BD 4635 13 INSULATOR TUBE/® 5 M; I/ D5 K
4 EDA4423 | NOZZLE INSULATORY/BERNARD/4423 14 | EDA44215  Liner 4,5 m - 1,2-1,6 mm.(44215)
5 EDA4790 : TORCHHEAD/4790;#:35i/BND400/4790
6 EDA4780 | NECK INSULATOR 4780;{3 444 % 4780 TORCH BND400/3.6M/EURO ADAPTOR
7-1 HANDLE/BLACK/BND;F 1/ {4/BND TORCH BND400/4.6M/EURO ADAPTOR
7-2 HOOK/BND;#:4)/BND
7-3 | EDA5662 = TRIGGER FOR BND/5662/YELLOW
7-4 SCRWE M3.5x0.6-10;i8£2 M3.5x0.6-10
7-5 NUT M3.5x0.6-11 CH6.3/NICKEL PLATING
7-6 NUT M3.5x0.6-15 CH6.3/NICKEL PLATING
8 COAXIAL CABLE 4.6M/4WIRES
8-1 | EDA4213B | Back Fitting Cable BD4213B
8-2 MUT/BND;# £:/BND
8-3 CABLE SUPPOR SPRING/BERNARD300-400
8-4 Female Trigger Wire Connector
8-5 INSULATOR FOR CONNECTOR
8-6 Heat shrink tubing: #45 & © 25mm/ K
8-7 COAXIAL CABLE 4.6M/4WIRES
8-8 INSULATOR TUBE/® 3 M; # i/ ® 30mm/k
8-9 Preinsulated Male Cylindrical Plug
8-10 Joint With Spring; i 7 5 BR i
8-11 Rings For Cable Clamping D19,3X21,3X42
8-12 BACK FITTING CABLE/BND; Hi 45 # 5/BND
8-13 Clamp ®11,5mm; £ @11.5mm
8-14 Clamp @20mm; ki ©20mm
9 BACK BOX FOR AIR COOLING
10 SCREW M4X6 UNI 6107

www.edaweld.com

20




EDAWELD COMPANY LIMITED

M FERABRAA

Compatible ESAB Type MIG/MAG Welding Torches i+t 5 +i& A T %

P

2 4
NO Torch Handle 3M 4.5M
1 EW250A(215) ESAB Type EW 250A-30E EW 250A-45E
2 EW305A(315) ESAB Type EW 305-30E EW 305-45E
3 EW405A(415) ESAB Type EW 405-30E EW 405-45E
4 EWS505A(515) ESAB Type EW 505-30E EW 505-45E
y i 4
/ s
250A 305A
5/’ &
s s
405A / 505A
Items EW250A(215) EW305A(315) EW405A(415) EWS505A(515)
Nozzle EW 250NZ EW 305NZ EW405NZ EWS05NZ
Spatter Protection EW250SP EW305SP EW405SP EW505SP
Contact Tip M6*27 EW250M6
Contact Tip M8*37 EW305M8 EW405M8 EWS505M8
Tip Adaptor EW250TP EW305TP EWA405TP EWS05TP
Swan Neck EW250SW EW305SW EW405SW EWS505SW
Liner EW250LN EW305LN EWA405LN EWS05LN

www.edaweld.com

21




EDAWELD COMPANY LIMITED

M FERABRAA

Compatible Fronius Type MIG/MAG Welding Spare Parts #{:iE i T4 e i

1
®

FHME Contact Tip (10pcs)

8 il
T & | T

& -

@10 w M10x1.25
T P |_r

i
8

Order Part No. Order Part No.
CuCrZr 0.8 EW 42.0001.2911 EW 42.0001.1576
0.9 EW 42.0001.3082 EW 42.0001.3277
®1.0 EW 42.0001.2912 EW 42.0001.1577
1.2 EW 42.0001.2913 EW 42.0001.1578
o114 - EW 42.0001.1930
D1.6 - EW 42.0001.1579
2.0 - EW 42.0001.1662
D24 - EW 42.0001.1663
CuCuZr For Al ®0.8 EW 42.0001.5082 -
®0.9 - EW 42.0001.5405
®1.0 EW 42.0001.5051 EW 42.0001.5057
1.2 EW 42.0001.5052 EW 42.0001.5058
o114 EW 42.0001.5053 EW 42.0001.5059
1.6 EW 42.0001.3485 EW 42.0001.5060
M 4 gr— 3
¢L1'3_ 5 22 i’ilu || —cszs
[ T
J ' I 1
W& Gas Nozzle (5pcs)
Order Part No. Order Part No.
13 | EW 42.0001.5096 13 | EW 42.0001.5128
M16x1
J—Q 9 "i _L J_—\: 4
L——‘ _F T ﬂ:-“
32
JEFF Tip Holder (10pcs)
Order Part No. Order Part No.
EW 42.0001.5084 EW 42.0001.5122
-
L_J [z ]
W& % Nozzle Retainer (20pcs)
Order Part No. Order Part No.

EW 42.0001.2930

EW 42.0001.2970

www.edaweld.com

22




EDAWELD COMPANY LIMITED

M FERABRAA

Compatible Kemppi Type MIG/MAG Welding Spare Parts fifi&H Tt

i, i — i — & —

D14 20 o4 20 14 | @20 @14 20
— e ot i ¢
T T i T — %5 =
! 60.5 | ! 80.5 ! ! 70 J 76 |

Wi Gas Nozzle (5pcs)
Order Part No. Order Part No. Order Part No. Order Part No.
EW 9580101 EW 9580101E EW 4295760 EW 4294970

J—A i il

16 25 o1 | ®25

f‘d_i_ T L4

! 86 ! ! 80 !

W& Gas Nozzle (5pes)
Order Part No. Order Part No.
EW 4255530 EW 4300380

T i e e
M g M MOX1 L—& % M8 w MA1x1 M8 L_* Mx1

' B i i i T = T

275 25.5 29 30.5

JEFF Tip Holder (20pcs)
Order Part No. Order Part No. Order Part No. Order Part No.
EW 9580173 EW 4294890 EW 42964001 EW 4304600

T A : x T A | .

14 16 i 17 20 t

4 — | » 4 U—

ik - | —
#5235 Insulator Bush (20pcs)
Order Part No. Order Part No. Order Part No. Order Part No.
EW 9591010 EW 9591079 EW 4248710 EW 4270290
A ' i i L
' SR Y
1 2 3 4
Order Part No.

1 EW 4300260 Nozzle
2 EW 9580123 Contact Tip
3 EW 4295740 Tip Holder
4 EW 4298290 Gas Diffuser
5 EW 3149600 Swan Neck
www.edaweld.com 23




EDAWELD COMPANY LIMITED

Compatible MIL Type MIG/MAG Welding Spare Parts it H 1 MIL

i

—k

M FERABRAA

4 grt— R — 4 e T & —
»15.9 n I m 1:5-18 th. 127 1218 tha. @11 7/8-20 UNEF 127 | 7/8-20 UNEF
% T w L — L —1
9.5 B LLJ_F L&_’
W& Gas Nozzle (5pcs)
Order Part No. Order Part No. Order Part No. Order Part No.
EW 047957 EW 047959 EW 049098 EW 049099
= i e | i e M o [ . e T
D15.5 7/8-20 UNEF @13 1-14 Thd. ®15.9 ! . 1-14 Thd. D20.6 7/8-20 UNEF
T el T S T wl—t f|u4
52.8 41.5 41.5 41.5
& Gas Nozzle (5pcs)
Order Part No. Order Part No. Order Part No. Order Part No.
EW 049929 EW 050115 EW 050622 EW 050116
§ WD &1 —ir
®15.8 T20UNEE ¢_1i1_ ' 7/8-20 UNEF qnz 7 7/8-20 UNEF ¢'12 7 ®20.5
T - 4 1—@ i _ 5
57.6 57.6 45 |
# Gas Nozzle (5pcs)
Order Part No. Order Part No. Order Part No. Order Part No.
EW 149146 EW 149147 EW 149148 EW 169715
i e i ___ - —F S i

®12.7 | 24
T h_i_

W& Gas Nozzle (5pcs)

d —y

©16.9 24

—;—h_L
64.3

Order Part No. Order Part No. Order Part No. Order Part No.
EW 169724 EW 169725 EW 169726 EW 169727
i — ™
©15.9 ®25.4
T -
59.1
W& Gas Nozzle (5pcs)
Order Part No.
EW 198855
_i_ . o, _L _L " _i_
”4-23 UNF{ “ 7116-14 1/4-28 UNF s A 3/8-24 UNF

I 30.2 | ,

EF Gas Nozzle (5pes)

"-"h
1/4-28 UNF 8-24 UNF
e

i e

ol e

1/2-20 UNF H
T
24

Order Part No.

Order Part No.

Order Part No.

Order Part No.

EW 146425

EW 169716

EW 169728

EW 169729

-

——

EF Gas Nozzle (5pes)

Order Part No.

EW 206195

www.edaweld.com

24




EDAWELD COMPANY LIMITED HMZBFEEEHAERAT

Compatible OTC Type MIG/MAG Welding Torches it 5 4&E M T OTC

fEEEQC

Torch M
1 EW OTC 180A EWT1800-S
2 EW OTC 200A EWT2000-S EWT2000-M EWT2000-L
3 EW OTC 350A EWT3500-S EWT3500-M EWT3500-L
4 EW OTC 350A EWT3510-S EWT3510-M EWT3510-L
5 EW OTC 350A EWT3520-S EWT3520-M EWT3520-L
6 EW OTC 500A EWT5000-S EWTS5000-M EWTS5000-L
3 R N 7
Ak b L el ﬁ——u’_@ s _ i il _ i
A L A
% Gas Nozzle (5pcs)

Order Part No. Order Part No. Order Part No. Order Part No.
EW U5020C00 EW U4186L00 EW U4167G01 EW U4173G01

_J_'_ " _*_ ‘_l.- 1|'2-12 H‘bd

Trigxd I ﬂ'" l 1/2-12 thd. T,;g ' "'-1 ' MA14 - I}a__ JL

— — . . — ﬁ a ke an 1 2 i l M14x1
62 Insulator (10pcs) ZEFF Tip Body (5pcs)
Order Part No. Order Part No. Order Part No. Order Part No.
EW U5020C00 EW U4186L00 EW U4167G01 EW U4173G01

4 Swan Neck (1pc)

?H§ 14 UNC
A

M‘MM
M!d!l
\ Ma !

1/2-12 thd

J—. . - —i—a
M6 ME

1/2-12 thd

X

Order Part No. Order Part No. Order Part No. Order Part No. Order Part No.
EW U4167B00 EW U4173B00 EW U4186B00 EW SWU3501 EW SWU5001
www.edaweld.com 25




EDAWELD COMPANY LIMITED

Central Adaptor #ifk

M FERABRAA

Order Part No.

Order Part No.

Order Part No.

EW 501.0003

EW 501.0168

EW 501.0015

www.edaweld.com

26




EDAWELD COMPANY LIMITED
WP-9 Series Air Cooled TIG Torches 9 51|43 & IR

T

Do

WP-9 Tig Torch Connector

M FERABRAA

1a 1c
2 él [
- G
ib 1d
3 g 4 :
l 20 | Pooazr au OIS BN +9
. _w a bl + !
» e e—
18
1 Gmgm— =
= PCOOIS 4M PCAGIS BM R
. W ——— | | &
5 5 = 6 a 20b | j<i - i
7 ! 74 Py =
20wyt g o
12
§isly 114 18b Ee
1 E =
By sfy ]
ad 18¢c
14§ /
Technical Data:
) Rating: 125A DC 80A AC Duty cycle: 60%o Electrode: 0.5~2.4mm
Part No. Description Part No. Description Part No. | Description
WP-9-4 WP-9Torch(Gas and Cable Whole) 9 13N27M Collet Body,2.0MM 15 53N59 Ceramic Nozzle,SMM
WP-9-8 WP-9Torch(Gas and Cable Whole) 9 13N28 Collet Body,2.4MM 15 53N60 Ceramic Nozzle,|0MM
WP-9-4 WP-9Torch(Gas and Cable Separate) 10 45V41 Small Gas Lens,0.5MM 15 53N61 Ceramic Nozzle,] IMM
WP-9-8 WP-9Torch(Gas and Cable Separate) 10 45V42 Small Gas Lens,1.0MM 15 53N61S Ceramic Nozzle,13MM
1 WP-9 Torch Body 10 45V43 Small Gas Lens,1.6MM 16 57N75 Large Dia. Ceramic Nozzle,10MM
la WP-9F Torch Body(Flexible) 10 45V43M, Small Gas Lens2.0MM 16 5TN74 Large Dia. Ceramic Nozzle,13MM
1b WP-9V Torch Body(Valve) 10 45V4a4 Small Gas Lens,2.4MM 16 53N88 Large Dia. Ceramic Nozzle,16MM
lc WP-9FV Torch Body(Flexible and Valve) 11 45V0204S Large Stubby Gas Lens 16 53N87 Large Dia. Ceramic Nozzle,19MM
1d WP-9P Torch Body(Pencil) 11 45V116S Large Stubby Gas Lens,1.6MM 17 Swith(with wire)
2 41V24 Long Back Cap 11 45V64S Large Stubby Gas Lens,2.4MM 18 Handle
3 41V35 Medium Back Cap 12 13N08 Ceramic Nozzle, (MM 18a Standard Handle
4 41V33 Short Back Cap 12 13N09 Ceramic Nozzle,SMM 18b Blue Handle
5 598882 Gasket 12 13N10 Ceramic Nozzle,|0MM 18¢c Red Handle
6 54N63-20 | Large Dia.Gas Lens Insulator 12 13N11 Ceramic Nozzle,] IMM 19 Cable Assembly
7 13N20 Collect, 0.5SMM 12 13N12 Ceramic Nozzle,13MM 20a | Connector Screw 5/8-18RH+Cable Lug
7 13N21 Collect,1.0MM 12 13N13 Ceramic Nozzle,16MM 20b | Connector Nut M16x1.5/M12x1
7 13N22 Collect,1.6MM 13 796F70 Longer Ceramic Nozzle,5MM 20c | Connector Euro Plug+M16x1.5/M12x1
7 13M22M Collect,2.0MM 13 796F71 Longer Ceramic Nozzle,6MM
7 13N23 Collect,2.4MM 13 796F72 Longer Ceramic Nozzle,§MM
8 13N20L Large Dia.Gas Lens Collet,0.5SMM 13 796F73 Longer Ceramic Nozzle,10MM
8 13N22L Large Dia.Gas Lens Collet,1.6MM 14 796F74 Extra Longer Ceramic Nozzle,5MM
8 13N23L Large Dia.Gas Lens Collet,2.4MM 14 796F75 Extra Longer Ceramic Nozzle,6MM
9 13N25 Collet Body,0.5MM 14 796F76 Extra Longer Ceramic Nozzle,8MM
9 13N26 Collet Body,1.0MM 14 796F77 Extra Longer Ceramic Nozzle,10MM
9 13N27 Collet Body,1.6MM 15 53N58M Ceramic Nozzle,6M

www.edaweld.com

27




EDAWELD COMPANY LIMITED

WP-17 Series Air Cooled TIG Torches 17 25154 G

M FERABRAA

1a ib I 1 1d

WP=17 Tig Torch Connector

PCOGLS M PERILE BN o E.
23a = §
PEOMIT AN POBELY AM .
=l
23b o
I
15
23c
Technical Data
Rating: 150A DC 120A AC Duty cycle: 60% Electrodes: 0.5-2.4mm
Part No. Description Part No. Description Part No. | Description
WP-17-4 WP-17Torch(Gas and Cable Whole) 10 10N29 Collet Body,0.5SMM 16 13N12 Stubby Ceramic Nozzle,1 IMM
WP-17-8 WP-17Torch(Gas and Cable Whole) 10 10N30 Collet Body,1.0MM 16 13N13 Stubby Ceramic Nozzle,13MM
WP-17-4 WP-17Torch(Gas and Cable Separate) 10 10N31 Collet Body,1.6MM 17 54N18 Ceramic Nozzle,6 MM
WP-17-8 WP-17Torch(Gas and Cable Separate) 10 10N32 Collet Body,2.4MM 17 54N17 Ceramic Nozzle,SMM
1 WP-17 Torch Body 11 17CB20 Stubby Collet Body,All size 17 54N16 Ceramic Nozzle,10MM
la WP-17 Torch Body 12 45V29 Medium Gas Lens,0.5MM 17 54N15 Ceramic Nozzle,| IMM
1b WP-17F Torch Body(Flexible) 12 45v24 Medium Gas Lens,1.0MM 17 54N14 Ceramic Nozzle,13MM
lc WP-17V Torch Body(Valve) 12 45V25 Medium Gas Lens,1.6MM 17 54N19 Ceramic Nozzle,| 7MM
1d WP-17FV | Torch Body(Flexible and Valve) 12 45V25 Medium Gas Lens,2.4MM 18 54N117L | Extra long Ceramic Nozzle,8MM
2 57Y02 Long Back Cap 13 45V116 Large Long Gas Lens,1.6MM 18 54N16L Extra long Ceramic Nozzle,|0OMM
3 57Y04 Short Back Cap 13 45V64 Large Long Gas Lens,2.4MM 18 54N15L Extra long Ceramic Nozzle,1 IMM
4 18CG Gasket 14 10N50 Ceramic Nozzle,6mm 19 57N75 Extra Dia. Ceramic Nozzle,|0MM
5 18CG-20 Stubby Gasket 14 10N49 Ceramic Nozzle,8mm 19 57N74 Extra Dia. Ceramic Nozzle,13MM
6 54N01 Gas Lens Insulator 14 10N48 Ceramic Nozzle,10mm 19 53N88 Extra Dia. Ceramic Nozzle,]1 6MM
7 54N63 Large Dia.Gas Lens Insulator 14 10N47 Ceramic Nozzle,1 Imm 19 53N87 Extra Dia. Ceramic Nozzle,|9MM
8 10N21 Collect,0.5SMM 14 10N46 Ceramic Nozzle,13mm 20 Swith (with wire)
8 10N22 Collect,1.0MM 14 10N45 Ceramic Nozzle,16mm 21 Handle
8 10M23 Collect,1.6MM 14 10N44 Ceramic Nozzle,19mm 2la Standard Handle
8 10N23M Collect,2.0MM 15 10N49L Extra Length Ceramic Nozzle,SMM 21b Blue Handle
8 10N24 Collet,2.4MM 15 10N48L Extra Length Ceramic Nozzle,10mm 2lc Red Handle
9 10N21S Stubby Collet,0.5MM 15 10N47L Extra Length Ceramic Nozzle,1 lmm 22 Cable Assembly
9 10N22S Stubby Collet,1.0MM 16 13N08 Stubby Ceramic Nozzle,6MM,6MM 23a | Connector Screw 5/8-18RH+Cable Lug
9 10N23S Stubby Collet,1.6MM 16 13N09 Stubby Ceramic Nozzle 23b | Connector Nut M16x1.5/M12x1
9 10NS Stubby Collet,2.0MM 16 13N10 Stubby Ceramic Nozzle,SMM 23c | Connector Euro Plug+M16x1.5/M12x1
9 10N24S Stubby Collet,2.4MM 16 13N11 Stubby Ceramic Nozzle,|0MM

www.edaweld.com

28




EDAWELD COMPANY LIMITED
WP-18 Series Water Cooled TIG Torches 18 £ %1 7K & R

~ 1a ib - 1c

L

20 wiffen c—

M FERABRAA

—\< WP-18 Tig Torch Connector

e AL

ﬁ
= L

Technical Data 23c
Rating: 350A DC 250A AC Duty cycle: 100%:  Electrodes: 0.5-4.0mm

Part No. Description Part No. Description Part No. | Description

WP-18-4 WP-18 Torch 10 10N32 Collet Body,2.4MM 16 13N13 Stubby Ceramic Nozzle,13MM

‘WP-18-8 WP-18 Torch 10 10N28 Collet Body,3.2MM 17 54N18 Ceramic Nozzle, (MM
1 WP-18 Torch Body 11 17CB20 Stubby Collet Body,All size 17 54N17 Ceramic Nozzle,SMM
la WP-18V Torch Body(Valve) 12 45V29 Medium Gas Lens,0.5SMM 17 54N16 Ceramic Nozzle,|0MM
1b WP-18P Torch Body(Pencil) 12 45V24 Medium Gas Lens,1.0MM 17 54N15 Ceramic Nozzle,] IMM
lc WP-18F Torch Body(Flexible) 12 45V25 Medium Gas Lens,1.6MM 17 54N14 Ceramic Nozzle,13MM
2 57Y02 Long Back Cap 12 45V26 Medium Gas Lens,2.4MM 17 54N19 Ceramic Nozzle,1 7MM
3 57Y04 Short Back Cap 12 45V27 Medium Gas Lens,3.2MM 18 54N17L | Extra long Ceramic Nozzle,8MM
4 18CG Gasket 13 45V116 Large Long Gas Lens,1.6MM 18 54N16L | Extralong Ceramic Nozzle,I0MM
5 18CG-20 Stubby Gasket 13 45V64 Large Long Gas Lens,2.4MM 18 54N15L | Extra long Ceramic Nozzle,11MM
6 54N01 Gas Lens Insulator 13 995795 Large Long Gas Lens,3.2MM 19 5TN75 Extra Dia. Ceramic Nozzle,|0MM
7 54N63 Large Dia.Gas Lens Insulator 13 45V63 Large Long Gas Lens,4.0MM 19 5TN74 Extra Dia. Ceramic Nozzle,13MM
8 10N21 Collect,0.5MM 14 10N50 Ceramic Nozzle,6mm 19 53N88 Extra Dia. Ceramic Nozzle,] 6MM
8 10N22 Collect,1.0MM 14 10N49 Ceramic Nozzle,8mm 19 53N87 Extra Dia. Ceramic Nozzle,19MM
8 10M23 Collect,1.6MM 14 10N48 Ceramic Nozzle,10mm 20 Swith (with wire)
8 10N23M Collect,2.0MM 14 10N47 Ceramic Nozzle,1 Imm 21 Handle
8 10N24 Collet,2.4MM 14 10N46 Ceramic Nozzle,13mm 2la Standard Handle
8 10N24 Collet,3.2MM 14 10N45 Ceramic Nozzle,|6mm 21b Blue Handle
9 10N21S Stubby Collet,0.5MM 14 10N44 Ceramic Nozzle,19mm 2lc Red Handle
9 10N22S Stubby Collet,1.0MM 15 10N49L Extra Length Ceramic Nozzle,SMM 22 Cable Assembly
9 10N23S Stubby Collet,1.6MM 15 10N48L Extra Length Ceramic Nozzle,10mm 23a | Connector Nut:G3/8+M16x1.5+G1/4
9 10N23MS Stubby Collet,2.0MM 15 10N47L Extra Length Ceramic Nozzle,1 lmm Screw:5/8-18LH+7/8-14LH+5/8-18
9 10N24S Stubby Collet,2.4MM 16 13N08 Stubby Ceramic Nozzle,6MM B | Comenr RH
9 10N25S Stubby Collet,3.2MM 16 13N09 Stubby Ceramic Nozzle,6MM

23¢ | Connector Screw:5/8-18+7/8-14+9/16-18

10 10N29 Collet Body,0.5MM 16 13N10 Stubby Ceramic Nozzle,SMM
10 10N30 Collet Body,1.0MM 16 13N11 Stubby Ceramic Nozzle,|OMM
10 10N31 Collet Body,1.6MM 16 13N12 Stubby Ceramic Nozzle,| IMM

www.edaweld.com

29




EDAWELD COMPANY LIMITED
WP-20 Series Water Cooled TIG Torches 20 % %1 7K 4 & IR

1

5

i

16

s

Lo

18a

1Bb

M FERABRAA

LT b

h‘-:l:'_:;_ —:ﬁf\ WP-20 Tig Torch Connactor
1a ihb

- 8L

18c %
Technical Data .
Rating: 350A DC 250A AC Duty cycle: 100%: Electrodes: 0.5-4.0mm

Part No. Description Part No. Description Part No. | Description

WP-20-4 WP-20Torch 9 13N29 Collet Body,3.2MM 14 53N87 Large Dia. Ceramic Nozzle,|9MM

‘WP-20-8 WP-20Torch 10 45V41 Small Gas Lens,0.5MM 15 Swith(with wire)
1 WP-20 Torch Body 10 45V42 Small Gas Lens,1.0MM 16 Handle
la WP-9F Torch Body(Flexible) 10 45V43 Small Gas Lens,1.6MM 16a Standard Handle
1b WP-9P Torch Body(Pencil) 10 45V43M Small Gas Lens,2.0MM 16b Blue Handle
2 41V24 Long Back Cap 10 45V4a4 Small Gas Lens,2.4MM 16¢ Red Handle
3 41V35 Medium Back Cap 10 45V45 Small Gas Lens,3.2MM 17 Cable Assembly
4 41V33 Short Back Cap 11 45V0204S Large Stubby Gas Lens 18a | Connector Nut:G3/8+M16x1.5+G1/4
5 598882 Gasket 11 45V116S Large Stubby Gas Lens,1.6MM Screw:5/8-18LH+7/8-14LH+5/8-18
6 54N63-20 | Large Dia.Gas Lens Insulator 11 45V64S Large Stubby Gas Lens,2.4MM | Comeeer RH
7 13N20 Collect,0.5MM 11 9957958 Large Stubby Gas Lens,3.2MM 18¢ | Connector Screw:5/8-18+7/8-14+9/16-18
7 13N21 Collect,1.0MM 12 13N08 Ceramic Nozzle,6MM
7 13N22 Collect,1.6MM 12 13N09 Ceramic Nozzle,SMM
7 13M22M Collect,2.0MM 12 13N10 Ceramic Nozzle,10MM
7 13N23 Collect,2.4MM 12 13N11 Ceramic Nozzle,1 IMM
7 13N24 Collect,3.2MM 12 13N12 Ceramic Nozzle,13MM
8 13N20L Large Dia.Gas Lens Collet,0.5SMM 12 13N13 Ceramic Nozzle,16MM
8 13N22L Large Dia.Gas Lens Collet,1.6MM 13 53N58 Ceramic Nozzle,6MM
8 13N23L Large Dia.Gas Lens Collet,2.4MM 13 53N59 Ceramic Nozzle,SMM
8 13N24L Large Dia.Gas Lens Collet,3.2MM 13 53N60 Ceramic Nozzle,1I0MM
9 13N25 Collet Body,0.5MM 13 53N61 Ceramic Nozzle,1 IMM
9 13N26 Collet Body,1.0MM 13 53N61S Ceramic Nozzle,13MM
9 13N27 Collet Body,1.6MM 14 57N75 Large Dia. Ceramic Nozzle,10MM
9 13N27M Collet Body,2.0MM 14 57N74 Large Dia. Ceramic Nozzle,13MM
9 13N28 Collet Body,2.4MM 14 53N88 Large Dia. Ceramic Nozzle,16MM

www.edaweld.com

30




EDAWELD COMPANY LIMITED
WP-26 Series Air Cooled TIG Torches 26 5415 A @ IVUEM

To‘

i

1la

Technical Data

Rating: 250A DC 160A AC Duty

" . ¥,
Qg Qs
“ ib 4 1e

15 il B

cycle: 60%: Electrodes: 0.5-3.2mm

M FERABRAA

L il e

id

x WP-26 Tig Torch Connector

T
LNt

HEFT=-8/i

XM
L8]
=000

Part No. Description Part No. Description Part No. | Description
‘WP-26-4 WP-26 Torch(Gas and Cable Whole) 9 45V29 Medium Gas Lens,0.5MM 14 54N17L | Extralong Ceramic Nozzle,8MM
WP-26-8 WP-26 Torch(Gas and Cable Whole) 9 45V24 Medium Gas Lens,1.0MM 14 54N16L | Extralong Ceramic Nozzle,|0MM
WP-26-4 WP-26 Torch(Gas and Cable Separate) 9 45V25 Medium Gas Lens,1.6MM 14 54N15L | Extra long Ceramic Nozzle,1 IMM
WP-26-8 WP-26 Torch(Gas and Cable Separate) 9 45V26 Medium Gas Lens,2.4MM 15 57N75 Extra Dia. Ceramic Nozzle,|0MM

1 WP-26 Torch Body 9 45V27 Medium Gas Lens,3.2MM 15 5TN74 Extra Dia. Ceramic Nozzle,13MM

la WP-26V Torch Body(Valve) 10 45V116 Large Long Gas Lens,1.6MM 15 53N88 Extra Dia. Ceramic Nozzle,|6MM

1b WP-26F Torch Body(Flexible) 10 45V64 Large Long Gas Lens,2.4MM 15 53N87 Extra Dia. Ceramic Nozzle,19MM

lc WP-26FV Torch Body(Flexible and Valve) 10 995795 Large Long Gas Lens,3.2MM 16 Swith (with wire)

1d WP-26P Torch Body(Pencil) 10 45V63 Large Long Gas Lens,4.0MM 17 Handle

2 57Y02 Long Back Cap 11 10N50 Ceramic Nozzle,6mm 17a Standard Handle

3 57Y04 Short Back Cap 11 10N49 Ceramic Nozzle,8Smm 17b Blue Handle

4 18CG Gasket 11 10N48 Ceramic Nozzle,10mm 17¢ Red Handle

5 54N01 Gas Lens Insulator 11 10N47 Ceramic Nozzle,] Imm 18 Cable Assembly

6 54N63 Large Dia.Gas Lens Insulator 11 10N46 Ceramic Nozzle,13mm 19a | Connector Screw 5/8-28RH+Cable Lug

7 10N21 Collect,0.5SMM 11 10N45 Ceramic Nozzle,] 6mm 19b | Connector Nut M16x1.5+Euro Plug

7 10N22 Collect,1.0MM 11 10N44 Ceramic Nozzle,19mm 19¢ | Connector Screw 7/8-14RH

7 10M23 Collect,1.6MM 12 10N49L Extra Length Ceramic Nozzle,SMM 19d | Connector Nut M16*1.5

7 10N23M Collect,2.0MM 12 10N48L Extra Length Ceramic Nozzle,10mm

7 10N24 Collet,2.4MM 12 10N47L Extra Length Ceramic Nozzle,1 1mm

7 10N25 Collet,3.2MM 13 54N18 Ceramic Nozzle,6MM

8 10N29 Collet Body,0.5MM 13 54N17 Ceramic Nozzle,SMM

8 10N30 Collet Body,1.0MM 13 54N16 Ceramic Nozzle,|0OMM

8 10N31 Collet Body,1.6MM 13 54N15 Ceramic Nozzle,| IMM

8 10N32 Collet Body,2.4MM 13 54N14 Ceramic Nozzle,13MM

8 10N28 Collet Body,3.2MM 13 54N19 Ceramic Nozzle,| 7MM

www.edaweld.com

31




EDAWELD COMPANY LIMITED
Ceramic Nozzles [5'&T M

M FERABRAA

For Torch 9 Series and 20 Serie

4 geeatl

4 n 4 t——,.,,,ee i
e o < _ s
I i = o
M | 63 | ! 76 ! 25.4

Part No. mm inches size Part No. mm inches size Part No. mm inches size Part No. mm inches size
13N08 6 1/4 4 796F74 5 0.165 3 796F70 5 0.165 3 53N58 6 1/4 4
13N09 8 5/16 5 796F75 6 1/4 4 796F71 6 1/4 4 53N59 8 5/16 5
13N10 10 3/8 6 796F76 8 5/16 5 796F72 8 5/16 5 53N60 10 3/8 6
13N11 11 7/16 7 796F77 10 3/8 6 796F73 10 3/8 6 53N61 11 7/16 7
13N12 13 12 8 53N61S 11 7/16 short
13N13 16 5/8 10

For Torch 17 Series, 18Series and 26 Series

I *.
oA m
+—

o

= B e
F L2 5

! 75 ‘ L—J“Z ‘ 81 ‘

Part No. | mm inches size Part No. mm inches size Part No. mm inches size Part No. mm inches size
10N50 6 1/4 4 10N49L 8 5/16 5L 54N18 6 1/4 4 54N17L 8 5/16 5L
10N49 8 5/16 5 10N48L 10 3/8 6L 54N17 8 5/16 5 54N16L 10 3/8 6L
10N48 10 3/8 6 10N47L 11 7/16 7L 54N16 10 3/8 6 54N15L 11 7/16 7L
10N47 11 7/16 7 54N15 11 7/16 7
10N46 13 172 8 54N14 13 12 8
10N45 16 5/8 10 54N19 18 11/16 short
10N44 19 3/4 12

- -

DA

o

47.6

Part No. mm inches size Torch
57N75 10 3/8 6 9 Series
57N74 13 12 8 17 Series
53N88 16 5/8 10 18 Series
53N87 19 3/4 12 26 Series
53N89 short

Collets, Collet Bodies, Gas Lenses i3, &E&E, RS

| 50 ! 29 LL_‘ 40

Part No. mm inche | Torch Part No. mm inche | Torch Part No. mm inches | Torch Part No. mm inches | Torch
s s

10N21 0.5 0.020 10N22S 1.0 0.040 | 17 Series 13N20 0.5 0.020 13N20L 0.5 0.020
10N22 1.0 0.040 | 17 Series 10N23S 1.6 1/16 18 Series 13N21 1.0 0.040 9 Series 13N21 1.0 0.040 9 Series
10N23 1.6 1/16 18 Series 10N24S 2.4 3/32 26 Series 13N22 1.6 1/16 20Series | 13N22L 1.6 1/16 20 Series
10N24 2.4 3/32 26 Series 10N25S 32 1/8 13N22M 2.0 5/64 13N23 2.4 3/32
10N25 3.2 1/8 13N23 2.4 3/32 13N24L 3.2 1/8
54N20 4.0 5/32 13N24 32 1/8

www.edaweld.com

32




EDAWELD COMPANY LIMITED

M FERABRAA

_L _L 3/8-24 UNF
- T T ~ T e
W 3/8-32 UNEF M 3/8-32 UNEF i
o = lm 5116-24 UNF
L—.l‘” | 24 —
22
Part No. mm inches Torch Part No. mm inches Torch Part No. mm inches Torch
10N29 0.5 0.020 17CB20 13N25 0.5 0.020
10N30 1.0 0.040 17 Series 17 Series 13N26 1.0 0.040 9 Series
10N31 1.6 1/16 18 Series 18 Series 13N27 1.6 /16 20Series
10N32 2.4 3/32 26 Series 26 Series 13N28 2.4 3/32
10N28 32 1/8 13N29 32 1/8
406488 4.0 5/32
3/4-16 UNF 1-16 UNF 1-16 UNF
5 - i = ; ; i
9M6-18 UNF Qg | 5/16-24 UNF )| T 3/8.32 UNF W 3/5-32 UNEF - W 5/16-24 UNF
4 =T LW-" = \ . ~F \ o
225 50 50 M
Part No. mm inches | Torch Part No. mm inches | Torch Part No. mm inches Torch Part No. mm inches | Torch
45V41 0.5 0.020 45V29 0.5 0.020 45V116 0.5 0.020 45V116S | 0.5 0.020
45V42 1.0 0.040 9 Series 45V24 1.0 0.040 17 Series 1.0 0.040 17 Series 1.0 0.040 9 Series
45v43 1.6 1/16 20 Series | 45V25 1.6 /16 18 Series 1.6 1/16 18 Series 1.6 1/16 20 Series
45V44 2.4 3/32 45V26 24 3/32 26 Series | 45V64 24 3/32 26 Series | 45V64S | 2.4 3/32
45V45 32 1/8 45Vv27 32 1/8 995795 32 1/8 9957958 | 3.2 1/8
45V28 4.0 5/32 45V63 4.0 5/32
Back Caps & Valve Stems TG M &+
i 5/16-24 UNF
5/16-24 UNF 5/16-24 UNF _= ’,ﬁ
18 L4—a_| | 146 |
ey i |
Part No. Description Torch Part No. Description Torch Part No. Description Torch
41V33 Short 9 Series 41V35 Medium 9 Series 41V24 Long 9 Series
With O-ring 20 Series With O-ring 20 Series With O-ring 20 Series
FHSTUNEE 5/16-24 UNF
3/8-32 UNEF [} / 7
: e ———
25.4 ]_ 139 -J. LL“
Part No. Description Torch Part No. Description Torch Part No. Description Torch
57Y04 Short 17 Series 57Y02 Long 17 Series VS-1 Valve Stem 26 Series
With O-ring 18 Series With O-ring 18 Series With O-ring
26 Series 26 Series
5/16-24 UNF I
| 254 |
Part No. Description Torch
VS-2 Valve Stem 9 Series
With O-ring 17 Series
18 Series

www.edaweld.com

33




EDAWELD COMPANY LIMITED HEHLARFEERERAR
Quick Fitting/ Cable Connector/ Cable Joint H 42k (i £z 3k R %1
European Type KRRz

P/N. Rated Current Wire Section(mm?)
EW10-25 200A 10-25
EW35-50 315A 35-50
EW50-70 400A 50-70
EW70-95 500A 70-95
P/N. Rated Current Wire Section(mm?)
EWL10-25 200A 10-25
EWL35-50 315A 35-50
EWL50-70 400A 50-70
EWL70-95 500A 70-95
Trafimet Type /3F 32 U2
P/N. Rated Current Wire Section(mm?)
EWTF16 200A 10-25
EWTF50 315A 35-50
EWTF70 400A 50-70
EWTF95 500A 70-95
P/N. Rated Current Wire Section(mm?)
EWTH16 200A 10-25
EWTHS0 315A 35-50
EWTH70 400A 50-70
EWTHO95 500A 70-95

Tungsten Electrode ##:

Diameter Choice: 1.0/1.6/2.0/2.4/3.0/3.2/4.0/4.8/5.0/6.4/8.0mm

Model Oxide Addictive Impurities Tungsten Color Length
Varieties Content% Content% Content% Standard

WT10 ThO: 0.90-1.20 <0.2 Balance Gold 150/175mm
WT20 ThO: 1.80-2.20 <0.2 Balance Red 150/175mm
WT30 ThO: 2.80-3.20 <0.2 Balance Pink 150/175mm
WT40 ThO: 3.80-4.20 <0.2 Balance Orange 150/175mm
WC20 CeO: 1.80-2.20 <0.2 Balance Gray 150/175mm
WL10 La:0s 0.80-1.20 <0.2 Balance Black 150/175mm
WL15 La:0s 1.30-1.70 <0.2 Balance Yellow 150/175mm
WL20 La:0s 1.80-2.20 <0.2 Balance Blue 150/175mm
WZ3 7102 0.20-0.40 <0.2 Balance Brown 150/175mm
WZ8 Zr0: 0.70-0.90 <0.2 Balance White 150/175mm
WP - - <0.2 Balance Green 150/175mm
wY Y20; 1.80-2.20 <0.2 Balance Purple 150/175mm
WR - 1.0-4.0 <0.2 Balance Dark Blue 150/175mm

www.edaweld.com 34




EDAWELD COMPANY LIMITED
Electrode Holder and Earth Clamp FEJE4, Mk K%

M FERABRAA

P/N. EW-1019 P/N. EW-1020
Name Round Head American Name Round Head American
Type 300A - Type 500A
Qty 25PCS & Qty 25PCS
Size 54*24*27cm Size 55%*35.5%27.5cm
G.W 15kg G.W 20kg
P/N. EW-1021 P/N. EW-1022
Name Cusp Head American Name Cusp Head American
& Type 300A & Type 500A
Qty 30PCS Qty 25PCS
Size 45%26.5*25.5cm Size 44*30*22cm
G.W 19kg G.W 19kg
P/N. EW-1023 P/N. EW-1024
Name Tiger Head American Name Tiger Head American
? Type S00A Type S00A
= Qty 30PCS Qty 30PCS
Size 49*24*23.5cm Size 49*24*23.5cm
G.W 18kg G.W 18kg
P/N. EW-1025 P/N. EW-1026
Name Japanese Type S00A Name Japanese Type S00A
& Qty 30PCS Qty 30PCS
Size 51.5%27.5%¥24cm Size 59.5%29.5*¥30cm
G.W 19kg G.W 20kg
P/N. EW-1027 P/N. EW-1028
Name Japanese Type No.600 Name German Type
45 300-400-500A
Qty 30PCS — Qty 50PCS
Size 51.5%28.5*24cm Size 53*36.2*%29cm
G.W 19kg G.W 28kg
P/N. EW-1029 P/N. EW-1030
Name German Type Name German Type
No.600-500A No0.800-500A
—_— Qty 25PCS —— Qty 25PCS
Size 47%21*27cm Size 47*21*%27cm
G.W 14kg G.W 14kg
P/N. EW-1031 P/N. EW-1032
Name Korean Type 300A Name Korean Type 500A
L Qty 50PCS L Qty 50PCS
Size 46*38*25cm Size 46*39*27cm
GW 20kg G.W 23kg

www.edaweld.com

35




EDAWELD COMPANY LIMITED

M FERABRAA

P/N. EW-1033 P/N. EW-1034

Name Italy Type 200A Name Italy Type S00A

Qty 50PCS Qty 25PCS

Size 52*25*32cm Size 54*29*21cm

G.W 15kg G.W 20kg

P/N. EW-1035 P/N. EW-1036

Name Holland Type 300A Name Holland Type 500A

Qty 50PCS E Qty 50PCS

Size 46*45%29.5cm Size 46*45%29.5cm

G.W 24kg G.W 26kg

P/N. EW-1041 P/N. EW-1042

Name | German Type No.600 Name Holland Type 600A

Qty 30PCS i Qty 50PCS

Size 57*32*28cm Size 47*35%21cm

G.W 19kg G.W 21kg

P/N. EW-1043 P/N. EW-1044

Name | Holland Type 500A Name Korean Type 300A

Qty 25PCS L Qty 50PCS

Size 46*32*18cm Size 46*38*25cm

G.W 19kg G.W 20kg

P/N. EW-1045 P/N. EW-1049

Name Korean Type 500A » Name French Type 300A

Qty 50PCS ety == Qty 40PCS

Size 46*39*27cm ‘ Size 44.5%27%22 5cm

G.W 23kg G.W 18kg

P/N. EW-1050 P/N. EW-1051

Name | French Type 5S00A : Name Cusp Head American
- - Do s

Qty 40PCS Qty 25PCS

Size 46.5*%30%24.5cm Size 44%30%22cm

G.W 24kg G.W 19kg

P/N. EW-1052 P/N. EW-1067

Name | Cusp Head American Name Star of Korea

Type 800A No.600-500A Electric

L Soldering Pliers

Qty 30PCS Qty 30PCS

Size 44%30%26.5cm Size 51*30*25cm

G.W 26kg G.W 19kg

www.edaweld.com

36




EDAWELD COMPANY LIMITED

M FERABRAA

P/N. EW-1079 P/N. EW-1080
Name | Copper Grounding § Name Copper Grounding
Clip 500A Clip 200A
Qty S0PCS Qty S0PCS
Size 43*20*20cm Size 34*26*19cm
G.W 20kg G.W 15kg
P/N. EW-1081 P/N. EW-1082
i / Name | Earth Clip 350A Name Copper Grounding
L Clip 300A
e Qty 25PCS Qty 20PCS
Size 43*20*20cm Size 56*19*20cm
G.W 20kg G.W 20kg
P/N. EW-1083 P/N. EW-1084
Name | Copper Grounding Name Earth Clip 500A
Clip 500A
Qty 20PCS Qty 20PCS
Size 56*19*20cm Size 56*19*20cm
G.W 20kg G.W 20kg
P/N. EW-1201 P/N. | EW-1202
e Name | American Type Name | American Type
= Grounding Pliers 300A Grounding Pliers 500A
; éf% * %;:3_‘ Qty 50PCS Qty 50PCS
= Size 54*33*24cm Size | 52*39*26cm
G.W 15kg G.W | 21kg
P/N. EW-1203 P/N. | EW-1204
Name | Holland Type Nam | Holland Type Grounding
Grounding Pliers 300A e Pliers 500A
Qty 100PCS Qty S50PCS
Size 64*37*%19cm Size | 50*43*24cm
G.W 18kg G.W | 18kg
P/N. EW-1206 1 P/N. | EW-1207
Name | Holland Type /; ,_«// Nam | Japanese Type Grounding
Grounding Pliers 500A %‘5/ @ i e Pliers 500A
Qty | 50PCS q‘?g -~ —  |ow |[sopcs
Size 64*43*19cm Size | 43*21*33cm
G.W 19kg G.W | 13kg
P/N. EW-1208 P/N. | EW-1209
Name | Japanese Type Nam | American Type
Grounding Pliers 500A e Grounding Pliers 300A
Qty S0PCS Qty 100PCS
Size 43*21*33cm Size | 52*39*26cm
G.W 13kg G.W | 21lkg

www.edaweld.com




EDAWELD COMPANY LIMITED

M FERABRAA

P/N. EW-1210 P/N. EW-1211
// Name Japanese Type Grounding Name | Holland Type Grounding
‘g/ : 7 Pliers 300A Pliers 500A
Qty 100PCS Qty 50PCS
Size 64*37*19cm Size 64*43*19cm
G.W 18kg G.W 19kg
P/N. EW-1212 P/N. EW-1213
\'/ Name American Type Grounding : Name Holland Type Grounding
e :’5 o Pliers 300A Cem S Pliers 400A
Qty 50PCS Qty 50PCS
Size 52*39*26cm Size 64*43*19cm
G.wW 21kg G.W 19kg
P/N. EW-1214 P/N. EW-1215
Name Holland Type Grounding Name | Holland Type Grounding
Pliers 300A Pliers 300A
Qty 100PCS Qty 100PCS
Size 41*19*32cm Size 14*19*32cm
G.W 13kg G.W 13kg
P/N. EW-1216 P/N. EW-1217
= ) Name Holland Type Grounding Name | Holland Type Grounding
Pliers 400A Pliers 500A
ey &> Qty 50PCS Qty | 50pCS
Size 64*43*19cm Size 52*39*26cm
G.W 19kg G.W 21kg
P/N. EW-1219 P/N. EW-1220
Name Japanese Type Grounding Name Holland Type Grounding
Pliers 300A Pliers 300A
Qty 100PCS Qty 100PCS
Size 64*43*19cm Size 41*19*32cm
G.W 19kg G.W 13kg
P/N. EW-1222 P/N. | EW-1223
Name | American Type Name | Japanese Type Grounding
Grounding Pliers 5S00A Pliers S00A
Qty 25PCS Qty 50PCS
Size 47%25*40cm Size 53*33*23.5cm
G.wW 22kg G.W 21kg
P/N. EW-1221
@ Name | European-style
' Retaining Clip 500A
Qty 20PCS
Size 43*21*33cm
) GW | 20kg

www.edaweld.com

38










EDAWELD COMPANY LIMITED

WINLBFHERHAER A

ADD: No.18, Huatong Road, Industrial Park, Yaoguan Town,
Waujin District, Changzhou City,

Jiangsu, China, 213102

Huhk: VLT84 5 M T o X8 WL Tk e X 42l #5185
Tel/Fax: 0086-0519-85860058

Email: sale@edaweld.com

Website: www.edaweld.com/www.jsedaweld.com




 
 
    
   HistoryItem_V1
   InsertBlanks
        
     位置： 当前页之后
     页数： 1
     页面大小： 与当前相同
      

        
     Blanks
     Always
     1
     1
     1
     530
     257
     1
            
       CurrentAVDoc
          

     SameAsCur
     AfterCur
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     位置： 当前页之后
     页数： 1
     页面大小： 与当前相同
      

        
     Blanks
     Always
     1
     1
     1
     530
     257
     1
            
       CurrentAVDoc
          

     SameAsCur
     AfterCur
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     位置： 当前页之后
     页数： 1
     页面大小： 与当前相同
      

        
     Blanks
     Always
     1
     1
     1
     530
     257
    
     1
            
       CurrentAVDoc
          

     SameAsCur
     AfterCur
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base



